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	4.1  Determine the force in each member of the truss and state if the members are in tension or compression.  Let P1 = 800 lb and P2 = 400 lb.
Ans: 
FAB = 286 lb (T), FBC = 808 lb (T), 

FAC = 571 lb (C)
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	4.2 Determine the force in each member of the truss and state if the members are in tension or compression.  Assume each joint as a pin.  

Let P = 4 kN
Ans: 
FAE = 8.94 kN (C), FAB = 8.00 kN (T),
FBC = 8.00 kN (T), FBE = 8.00 kN (C),
FCE = 8.94 kN (T), FDE = 17.9 kN (C)

	[image: image2.jpg]



	4.3 Determine the force in each member of the truss and state if the members are in tension or compression.  Let P1 = 500 lb and P2 = 1500 lb.
Ans: 
FAG = 1179 lb (C), FAB = 833 lb (T),

FBC = 833 lb (T), FBG = 500 lb (T),
FDE = 1650 lb (C), FEG = 1167 lb (C),

FCG = 471 lb (T)
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	4.4 Determine the force in members BC, CH and GH of the bridge truss, and indicate whether the members are in tension or compression.  
Ans: 
FGH = 29.0 kN (C), FBC = 20.5 kN (T),

FCH = 12.0 kN (T)
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	4.5  Determine the force in members CD, CF and FG of the Warren truss, and indicate whether the members are in tension or compression.  
Ans: 

FFG = 8.08 kN (T), FCD = 8.47 kN (C),

FCF = 0.770 kN (T)


